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Basic Pumping Theory

Welcome back to our discussions. We have been talking about the pumps; we just got the

introductions of different types of pumps and which are used in mines.

(Refer Slide Time: 00:47)

Mine Pumps: Basic Principles

Objective
Study of the basic principle of pumping |

So, today, we will be discussing some of the basic principle of pumps, so that you can

understand that how a pump work. So far, we have studied that we are having this centrifugal



pump, we are having our reciprocating pump, we have also talked about that how are we have

got submersible pumps, we have got mono pump, different type of pumps in the mines.
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After going through this lesson you will be able to:

* Carry out different calculations required in pump applications

Now, this say today, we will be discussing about some very basic calculations regarding
pumping. What normally you need to know? You need to know that what should be the
motor power required to drive a pump, sometimes you need to know exactly under what
conditions that a centrifugal pump may go for cavitations or you need to know what are the

characteristics of the pump that means how it will behave.

It is a head, your capacity, its efficiency, what is the critical speed of a pump, what is the net
positive suction head, this type of things are very much essential for selecting a pump for a

particular dewatering projects in a mines.
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Capacity, Pressure, Head and Energy

Developed by Pump and Fan

Capacity = Quantity of liquid or gas moved by the machine per unit
time

Volumetric Capacity, Q m3/s
Mass Capacity, M = pQ, kg/s ; p=fluid density, kg/m?

The capacity of a pump (fan, compressor) is determined by:
* Size

* Speed of the pumping (rotating/moving) element

* Network the pump is connected to

So, first thing is let us know what is understood by capacity, pressure, head and energy
develop by a pump and fan. This is exactly we will be discussing about fan and compressors
also in our next class. But this capacity it is that whatever the quantity or whatever the
amount of that volume of fluid which will be passing through per second that is what is your

capacity.

Now, one thing is there in case of pump sometimes, we need to know about the mass capacity
also that is because the pumping can be done for slurry, sometimes for mud, sometimes for

even paste.

So, that is why there the mass capacity is also important and that will be just when you

multiply your capacity that is a volume rate that is you say sometimes it is a Q sec that is your



cubic meter per second that is called Q sec. If you multiply that Q sec with the density, then it

gives your mass capacity.

Now, this capacity of a any turbo machinery that is your fan or compressor or a pump, it is a
mainly it depends on the what is the size and that what is the speed of pumping that is at what
rate it is moving and then, what is your total network of the pump, how it is connected and
also sometimes, it is with the type of pump that is at what how many stages or what stages

you are doing, those are the things which determine the capacity.

(Refer Slide Time: 03:49)

Pump Pressure

* Pump Pressure, p
22
P=pui = Pin + p% +pg(2u = zim)

Where,
Pui: Outlet(ultimate )pressure, Pa

Piar: Inlet (initial) pressure, Pa

p: density of the fluid delivered by pump, kg/m?
¢y outlet velocity of the fluid pumped, m/s
Ciny: Inlet velocity of the fluid pumped, m/s

7, delivery head i.e elevation of pupm outlet, m
Ziyy: suction head ie elevation of pump inlet, m

Total Dynamic head at suction=H,
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Then, another thing very important thing is to know that is your pump pressure. As we know
that the definitions of it exactly for that liquid flow from high pressure to the low pressure so
that how exactly pump create that it is taking out the water and then, your any fluid how it is

pressing.



So, here the pump pressure it depends on what is exactly at the outlet pressure and then, what
is at your inlet pressure, their difference is your the pump pressure. But within that it also
generates depending on its density, your what is at what velocity is going that is your the
when a fluid enters into the pump, there is at inlet velocity and when it is going out, there is

an outlet velocity.

So, that pressure depends on that is exactly what is these differences of this velocity and
depending on its density, a component is there. And then also, there is a what is that delivery
head? That is where we say what the vertical that elevation difference at that delivery end and
at that main eye or the pump level and that as a suction head that is which is elevation up to

the inlet.

So, this from the basic principles of your hydraulics, you get this pump pressure is given by
this equations which is difference of this your pressures at your ultimate pressure that means,
at the outlet pressure and the inlet pressures that is your square that is depending on this the
difference of the square of the velocities and that is your the head at the outlet and inlet. So,

this is a basic equation for pump pressure.

Then, there is also one thing called dynamic head that dynamic head at the suction at a
suction which is at the inlet of the pump, it is coming on that your whatever the inlet
pressures and with the density, its velocity, these are the things which we get from the
Bernoulli’s equations and same things, we can find out what is at the outlet. So, this pump

pressure calculation is the basic things.
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The difference of these two heads is the dynamic head developed by
the pump, H calculated as H = ;Lg

Static head (without taking into account the gain in flow’s kinetic
energy), Hy expressed in mm of of water column (1 mm water = 9.8 Pa)

|4
Hy = ﬂ_i; =Pyl ~ Pint T pg(zul - Zinl)

Specific Work by pump

The work input applied to the shaft of a pump per kg of mass of the fluid being moved is the
specific work done by the pump. Specific Useful work is:

P
Lu\'[ = ’E

y A

Now, this your outlet and inlet, there this dynamic head that is develop by this differences is
your rho that is your the total pressure difference by rho intensity. So, this from here, this
head is known and there is a static head, that static head exactly when we do not consider the
velocity component as in the first equation, we have seen that it is a the difference of the
square of the velocities if you do not take into consideration, then whatever head is there that

1s the static head.

So, difference of the static head and that your main dynamic head is your these component
that velocity difference component is not coming over here. And then, exactly every pump is
doing some work, exact that they are how much volume of water or fluid is being put that is

depending on that how much work is being done by the pump.



And that is what is your useful work and that useful work is a normal expression is your that

pressure raised by density. So, this is what a as a very preliminary things you need to know.
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Pump Output

It is the power (energy/s) the pump imparts to the fluid moved

_Qp _pQgH
71000~ 1000

The energy input N applied to the pump shaft is called pump brake power

And from there, we get that main equations that your this useful work is exactly that is your
what is your energy output per second that when you say as there how much exactly work is
done, this basic equations is this quantity pressures by that is for conversion of the unit, you
get this rho QgH by 1000 that is your what is exactly the output power in kilo Watt. We are
dividing by 1000, we are getting it kilo Watt just taking care of the unit.

And now, this N which is applied to the pump shaft that is your that shaft will have to be

rotated so, this much power will have to be. Now, to get the motor power, if your this one if



you are whatever the efficiency mechanical efficiency is there, whatever the energy loss by

dividing that you can get calculate the motor power so, that is.
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Pump Efficiency,

How efficiently the energy used by the pump . Equals to pump output
divided by pump brake power

Factors affecting pump efficiency:
Type, size, design, kind f liquid, operating conditionsnetwork service

Overall efficiency, 1, is the ratio of pump output to power input

Then, you have now learnt that what is the capacity, what is the pressures and what is the
power at the shaft of the pump and then, if you know the power at the shaft of the pump, you

can find out what will be the motor power required.

Then, another factor which is coming that is your what is the efficiency of the pump?
Efficiency of the pump will be exactly the pump is giving what output and then, what is that
pump behave, but that is a ratio of this output by input is the your efficiency.

Now, that pump efficiency, this is a very very important thing while manufacturing pump and

then while selecting pump and this vary with the type of pump different type of pump will be



having different efficiency, their size, their design that kind of liquid for which it is being
used and then, operational conditions and even the ambient conditions, those things will be

affecting the efficiency.

And then, the main when we talk about the overall efficiency is the your pump output that is
exactly what is the rate of work being done by the pump which we have just gave that
equations and then, what is exactly your power input if you are that is how much electricity
has been given to the motor to drive that is a power input, these two ratio it gives the overall

efficiency of the pumping stations.
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By principle of conservation of mass,
Mass discharge through the pump = mass discharged through water line
M= Mipe

oump™

=] Equality of volumetric discharge
= qump= Qjre
’ From energy conservation between 00 and AA
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W Where, Lys; = specific useful work done by the pump
Hy i T hy_, =head loss due to hydraulic resistance of network
0 } Py 0 between end of pipe and point A of line branching

The useful work required to be done:

Pump Connected to a water supply network Pa=h o
Ly = T+9(H1 +Hy) +E+ thl—A

Now, there is your what exactly you get in a installations. If you see here, if any pump is

there, we have got a suction side, we have got a head here suction head, we have got a



discharge head over here and then, see from here the pump is if it is given to two different

areas, it is being sent.

So, under such type of conditions, then if we see that we can apply two things, one is the
conservation of mass that means, whatever the mass is just being taken over, it is that
discharge there is no accumulation of any mass over here so, that is your whatever that output
and whatever this incoming that will be giving you the total that is your that whatever the

pump is going up towards a volumetric discharge.

So, from there, you can find out that a equations even for the energy conservation is another
one, no energy is stored over in the pump. These two things that means, whatever that our
useful work has been done by the pump, it is exactly related to the total useful work which

has been done.

So, that means, that your by balancing the energy, you can calculate out how much is the
useful work carried out and this gives that exactly the pressure differences and their head

differences, velocity differences this leads to the total useful work in a pumping stations.
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Specific Speed, n,

The specific speed of pump is defined as the speed of a geometricall
similar pump that would deliver 1 m3 of liquid per sec agaist a head of
im

2
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The shape and dimension of an impeller depends on capacity, Q, total Head, H and speed, n.
Specific speed is a numerical value which is the true rotational speed of a model pump similag
vane geometry and capable of delivering unit of volume in an unit of time through a unit of

Now, sometimes when you are working in your mines that you need to find out that, what is
the total scheme of your water collections and then, delivery and from there, you can find out
that how much work will have to be done by pump. So, that is when in your mining methods
you study, then how much water accumulated you are you require a dewatering scheme for

that you will have to do the individual exercise while applying it.

Then, one very important thing as a concept is required that is your specific speed. Now, this
specific speed is exactly is a for designing of the pump it is used. This number which were
which is derived by an equations which is given here that specific speed is a square root of
the capacity and then that is a H to the power 3 by 4 that multiplied by the that your pump
speed that we get a specific speed, it is exactly if there be a similar pump, the pump

differences are with the impeller.



You might have you remember last class; we were telling about that is what is the backward
curve, radial or the forward curve, different impeller is there, the impeller can be designed in
a different way. If our pump is defined in such a way that it is delivering 1 meter cube liquid
per second against a head of 1 meter so, when you put distinct over there, this equation is

derived and that is called a critical speed.

Now, this critical that is a specific, this speed this that specific speed exactly it is a it depends
on this parameter only that is the capacity, total head and that your that total that at what
speed it was that exactly the pump when impeller is rotating, you have got a particular rpm it

is working.

Now, this the motor shaft speed is not that this critical speed. Critical speed is a number
depending on that we know about what will be the characteristics of the pump that is whether
it is a this normally, it will vary from 60 to 400 different type of specific speed can be there
depending on your type of pump.
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* Depending on the unit of Q and H specific speed will be different.

Descripion | Metric__[Britsh _[Us [Russia__lapan |
Flow, Q m3/s Gpm(imp) ~ Gpm(US)  0.075m3/s  M3/min
Head, H m Ft Ft m m
Specific 1 47 52 3.65 1.75
Speen n,
Suction Specific Speed: . N \/6
S

~ (NPSH)0TS

Say for example, in a centrifugal pump, you are having this your critical speed range, it is if
your it will be varying depending on the unit. Normally, this if you are putting it your flow in
meter cube per second, then your head is measured in meter that one that critical speed in
metric system will be a 47 critical speed in British system, your 52 critical speed at Gpm and
in Russia that every country has got different. So, this is exactly followed and required in

designing of the pump.
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Pump Characteristics depends on specific speeds

Types of characteristics curves of centrifugal pump
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I. Low specific speed (radial type) I. Average specific speed I. High specific spee
H: Head, m
N: Shaft Power, kW
3 4 QH
Efficiency Shaft Power, N="—2 kW /
Q: capacity, m’/h 1000M /:

Now, what is exactly with that critical speed, how it exactly affect? Now, this specific speed;
specific speed and critical speed is also different. Now, in that specific speed which you have
just calculated out by that formula of your N square root of the capacity divided by your H to
the power that 0.75 that your specific speed determines exactly how the characteristics of the

pump is.

If it is a low critical speed within say 50, 60 like that a low value that normally in a radial type
of pump impeller we get you see here that the power is increasing with your capacity, it is
exactly if we say and is a power, head, efficiency, when you see the behavior of power, head
and efficiency with the quantity that is your volume rate or output of the pump, we see here
that efficiency is decreasing, but the power is increasing and then, your total head is

decreasing.



This is a characteristics of a low specific speed pump. But if in average specific feed you can
see here that is it is your this drooping that your head is going down and then, this efficiency
is less than whatever inner low specific speed and in a high specific speed, you see a
difference behavior, it is going down and then, it is going up and this is very fast falling

down.

So, that is what exactly for the critical speed and you know that is power relationship you
know now this power, it is exactly depending on Q and H and this when you see individually
that your a pump characteristic curves, it shows that what will be that specific speed and that

exactly in designing the pump, determining the impeller type it is used.

(Refer Slide Time: 17:28)

Mixed flow

Power intake decreases with Cavitation Curve

increased capacity HNQ h do not depend on suction head
until critical suction head is reached

Sometime, there is another thing is where we are getting a mixed flow type of things. Exactly,

here the power intake increases with the increase in the capacities, that power intake it is



going over here and then, again it is slightly increasing over here, but then there is a that
critical speed which comes under when it will be talking about your cavitation’s, when it is
started taking place that is your pressures and vapor pressure relationships, you will find that

there are two level of critical speed.

And then, in any that is your the suction head, if you are pressing this your total head, your
power and quantity and efficiency, if we see their behavior with the suction head. When the
suction head has got one critical level after that particular one it starts following down and

then at a point, it is exactly the vapor pressure will be playing over here and you get.

So, this is a characteristics of there and then, normally a allowable suction head is another
characteristics which is drawn over here and these things you normally do a practical on a
pump characteristics these things are studied. So, when in any mine, you may be finding that
is a they do a lot of testing with the pumping stations and this characteristics need to be

determined.
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Net Positive Suction Head, NPSH

* NPSH stands for Net Positive Suction Head and is a measure of
the pressure experienced by a fluid on the suction side of a
centrifugal pump. It is quoted as a Head (in feet or meters)
rather than as an actual pressure (Ib/in?, psi or Pa) because
‘head’ is a fluid-independent property: a pump will lift different
fluids to the same height irrespective of their densities.

* NPSH is defined as the total head of fluid at the centre line of
the impeller less the fluid’s vapour pressure. The purpose of
NPSH is to identify and avoid the operating conditions which
lead to vaporization of the fluid as it enters the pump - a
condition known as flashing.

So, you have got a rough general idea about what is the pump capacity, power and then, this
specific speed. Now, let us talk little bit about what is a net positive suction head, another
concept which is very very important. It is a measure of the pressure experienced by a fluid on
the suction side of a centrifugal pump that means, from the where it is suck that is your lifting

the fluid, there that head is the suction head.

Now, this head is expressed in your actual pressure that is and then, the head is a fluid
independent property. A pump will lift different fluids to the same height irrespective of their
densities that is why it is called as a head; it is a property of the pump. And the net positive
suction head is the total head of fluid at the center line of the impeller less the fluid vapor

pressure.



Now, this vapor pressure is again a concept you know that is exactly and where you might be
remembering that how things boil, your bubble formation takes place and at that time that

depending on the what is the vapor pressures on it.

(Refer Slide Time: 20:24)

+ Inacentrifugal pump, the fluid’s pressure is at a minimum at the eye of the impeller.

+ If the pressure here is below the vapour pressure of the fluid, bubbles are formed which pass on through the impeller
vanes towards the discharge port.

+ As the bubbles of vapour are transported into this higher pressure region, they can spontaneously collapse in a
damaging process called cavitation

The repeated shack waves praduced by this process can be a significant cause of wear and metal fatigue on impellers
and pump cases.

* Cavitation also results in vibration and noise in the pump, placing greater strain on the drive shaft and other
components, and also in downstream pipework. This can lead to greater maintenance costs and a higher incidence of
pump failures.

Pressire

Figure 1. g through o centrifugal cing cavitation: f
pump (a); pressure drops below vapour pressure at impeller (b), pressure rises as fluid passes out to
discharge (d) and bubbles condense and collapse (c).

Now, exactly this net positive suction head when it comes over here, you can see here one
thing that your after sometimes, this your when is vapor pressure level near that it starts
bubbling that is your bubble formation starts and then, when that it goes below again the
pressure raises, here bubble will be collapsing. Now, that when the bubble formations and
then bubble bursting at that time energy is released on the impeller and there the pitch comes

on the impeller and that phenomena is called your cavitations.

So, that means, that net positive suction head, it is a very important property of the pump and

then, the relationship with the vapor pressures, this is very very important for the pump



maintenance. If the pressure is below the vapor pressure of the fluid, then the bubbles are
formed which pass on through the impeller vanes towards the discharge port and wherever it

will be collapsing at that time, this your the this phenomena is called your cavitations.

So, now whenever there will be this bubble collapsing, there will be lot of shock waves will
be produced and then, it can cause a significant wear and the metal fatigue and that a pump
failure in centrifugal pumps failure, a many a times it is with the this formation of this
cavitation’s. You can see this diagram where your this fluid is entering, this is the eye of the
your centrifugal pump where you can see this is the impeller and which is there inside that

your volute casings.

Now, when this is coming over here at this place, if that vapor pressure if it is go below this
vapor pressure, then the bubble formations will take place and then, there is a when it is it
will be coming over here, that bubble will be collapsing. So, this phenomena inside the pump

is very very important things.
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Net Positive Suction Head

The suction head in the fluid close to the impeller
can be expressed as the sum of the static and the
velocity head:

ho=p,/y+v?/2g (1)

where

h, = suction head close to the impeller

« cavitation p, = static pressure in the fluid close to the impeller
vy = specific weight of the fluid

Low pressure at the suction side of a pump can
encounter the fluid to start boiling with

* reduced efficiency

e v = velocity of fluid

Boiling starts when the pressure in the liquid is g = acceleration of gravity
reduced to the vapour pressure of the fluid at

the actual temperature. Liquids Vapor Head

To characterize the potential for boiling and The liquids vapor head at the actual
cavitation, the difference between the total temperature can be expressed as:
head on the suction side of the pump - close to ho=p,/v (2)

the impeller, and the liquid vapor pressure at where

the actual temperature may be used. h, = vapor head
v

p, = vapor pressure

So, now, that means, the net positive suction head is important, and it is exactly that what is
the; what is the temperature, what is the vapor pressure and then, how, what is the density of
the fluid all these things will play. But one thing is there, the low pressure at the suction side
of the pump can encounter the fluid to start boiling that is if in a if your net positive suction

head is above this vapor pressure.

Then there will not be any cavitations. So, we need to say that it does not go below this then
only the pump will be running properly. Now, here the suction head of the fluid close to the
impeller can be expressed as a sum of the static and the velocity head. So, we have discussed
earlier, you know the suction head will be having one your velocity component once they are

static component.



And then, the liquid vapor head, it is exactly on the basic on the basis of the vapor pressure
and specific weight of the fluid. Now, these two values if you know, then you can find out

whatever there will be a condition for that your cavitations will be coming or not.

(Refer Slide Time: 24:14)

The vapor pressure in a fluid depends on temperature.
Water starts boiling at 20°C if the absolute pressure in the fluid is 2,3 kN/m2. For a temperature of 80°C the boiling
starts at absolute pressure 47,5 N/m2, and of course at 101.3 kN/m2 (normal atmosphere) boiling starts at 100° C.

Net Positive Suction Head - NPSH

The Net Positive Suction Head - NPSH - can be expressed as the difference between the Suction
Head and the Liquids Vapor Head:

NPSH=h,-h, (3)

or

NPSH =D, / Vicig V.2 28 Py / Vrapour

NPSH is normally considered in two forms: NPSH-R (NPSH Required) and NPSH-A
(NPSH Available).

What is NPSH-R?

NPSH-R is a pump property. Net Positive Suction Head Required is quoted by
pump manufacturers as a result of extensive testing under controlled
conditions. NPSH-R is a minimum suction pressure that must be exceeded for
the pump to operate correctly and minimize flashing and cavitation.

Now, the vapor pressure of a fluid depends on the temperature that is water starts boiling at
20 degree centigrade if absolute pressures in the fluid is your 2.3 kilo Newton per meter
square or it will be for temperature 80 degree centigrade, it will be 47.5 that means, that when
we say that is our at 100 degree centigrade when we see our water boils at that time exactly

this is our it will having a pressure of 101.3 like that.

So, this net positive suction head, it is exactly can be expressed between the suction head and

the liquid vapor head, their differences is the net positive suction head. This one you need to



remember so that and then, you can calculate out what is the net positive suction head. So, it

is normally considered, there are two term s of there, one is called your NPSH is required.

And NPSH is available for when it is coming to a pump that is your NPSH is required, it is
the pump manufacturers they give that, that is exactly they do a lot of testing and after the
testing, they specify the conditions that under these conditions, this pump will be running
such a way that so that if they do not do this test, their NPSH is if it is less than vapor
pressure, there will be more bubble formations and there will be cavitations and (Refer Time:

25:50) will be damaged.

So, there is a the required one that is NPSH is required is the minimum suction pressure that
must be exceeded for the pump to operate correctly and minimize flashing and cavitation this

1s what there.
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* NPSHr is always higher than the theoretical NPSH due to head loss in
the suction pipe and the pump casing, and local velocity
acceleration and pressure decrease on the impeller surface.

* NPSHr is in general determined experimentally by the pump
manufacturer and a part of the pump performance curves
documentation.

+ The required NPSHr increases with the square of increased capacity.




So, this NPSH is required is always higher than the theoretical NPSH due to the head loss the

suction pipe and the pump casing and local velocity acceleration and pressure decrease on the

impeller surface.

Now, it is the as I said this manufacturers, they do these things experimentally and they find
out from the determining those curves that is your from the performance curves ok. So, now,
normally it is that NPSHr that is Net Positive Suction Head required increases with the square

of the increased capacity.
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Dfferenial Head

How is NPSH-R measured? et}

Manufacturers test pumps under conditions of constant
flow and observe the discharge pressure (differential head)
as NPSH (the suction pressure) is gradually reduced.

Tests are usually performed with water at 20°C. NPSH-R is NPSH NsH
defined as the value at which the discharge pressure is Fiute 2 Ontermring NPS#4ora ien fow.
reduced by 3% because of the onset of cavitation (Figure

2). NPSH-R is sometimes shown as NPSH; or NPSH;,, to

highlight this fact.

For multistage pumps, only the first stage is taken
into consideration for determining the 3% pressure
drop.

Now, that in a manufacturers test pumps under conditions of constant flow and observed the

discharge pressures and they plot it and from there, they find out. So, the tests normally, they



are performing and then, they determine that is your where it will be there if the pressure

difference is 3 percent that pressure, they will be starting cavitations, this part is taken.
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Net Positive Suction Head Available (NPSHA)

The pressure available at the pump inlet depends on multiple factors:

1. atmospheric pressure (Ha) 5

2. static elevation difference between the liquids surface & the centerline of the impeller
(Hs)

3. friction losses in the suction piping (Hf)

4. velocity head of the fluid (Hv)

5. the vapour pressure of the liquid (Hvp).

The available NPSH , HPSHa is the NPSH available for a particular
system and must be determined during design and construction of the
system, or determined experimentally on the actual physical system

The formula that is used to calculate NPSHA is:
NPSHA=Ha +/- Hs - Hf + Hv - Hvp

Now, these are done for separately for single stage pump, multi-stage pump, different will be
having a different and this comes with the pump manufacturers they developed over there.
Now, this net positive suction head available, this concept is the pressure available at the

pump inlet depends on these factors mainly that atmospheric pressure.

You can see here this atmospheric pressure whatever it will be there and that difference
between these two heads at the your eye level and also that whatever is the friction losses in
the pump and all that pipe there will be friction losses. So, this then, your total when you
know the different heads, then by simple balancing, you can find out that is your net positive

suction head available is calculated by considering all these different heads.
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What is NPSH-A?

Net Positive Suction Head Available is calculated from the suction-side system
configuration. It is essentially the suction-side pressure less the vapour
pressure of the pumped fluid at that point.

NPSH-A must exceed the pump’s NPSH-R rating for the chosen operating
conditions to ensure that cavitation is avoided.

Normally, a safety margin of 0.5 to 1m is required to take account of this and
other factors such as:

+ The pump's operating environment - is the temperature constant?

* Changes in the weather (temperature and atmospheric pressure).

+ Any increases in friction losses that may occur occasionally or gradually

during the lifetime of the system.

A greater margin may be necessary with some systems. For example, sealless
pumps can become unbalanced even with minor cavitation and this may cause
bearings to fail. In these cases, a higher margin is necessary.

Now, from here, you can tell that what is that net positive suction head available, it is
calculated from the suction side of the system configuration. It is that suction side pressure
list the vapor pressures of the pump fluid at that point will be giving you the net positive
suction at available and then, normally, for your operations, it should be more than the

required rating whatever given by the pump.

Normally, for a safety margin, we can keep that 0.5 to 1 meter is required for this differences
between these two particular net positive suction heads ok. So, now, the other thing which is

important for you the greater the margin may be necessary for the some systems.

For example, a sealless pump, if you are to use it that it can become unbalanced if you need

the minor cavitations and this may cause bearing to fail in that cases, a higher margin is



necessary. That means your net positive suction head which is required and which is

available, their differences may be required more.

(Refer Slide Time: 29:37)

Determining NPSH-A

Data needs for determining NPSHa:

+ absolute pressure on or at the liquid surface

*  static head, which is simply the vertical distance from the top of the water surface to the pump
impeller eye (or pump centerline if they are the same)

* vapor pressure of the liquid being pumped, which you can easily calculate based on the
temperature and is a value that is easy to look up

+ friction head,

+  velocity head, normally a negligible factor and for simplicity we will skip it this month and
address in a later article in the series

NPSHa = pressure absolute — vapor OrNPSHa=A-V+$-F
pressure absolute + static height of the Or NPSHa= l'l'h.w* h, by
liquid - friction R
absolute pressure = h,
Where: vapor pressure = h - (absolute value)
the pressures are in absolute values and all static head = h_(positive value becauseic ~ /
components are in units of feet. is fooded) A

friction head = h,

So, these issues are seen whenever you are going to select a pump for a particular applications
you will have to calculate these things. So, basically you can remember this net positive
suction head, your pressure absolute what is there its required, then vapor pressure absolute
what is required, static height of the liquid and the frictional loss if you subtract, there you

will find out what is your net positive suction head available, you can get from a pump.
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B
Capacity and Diameter of Reciprocating pump

Depends on

* Cylinder’s cross sectional area, A, 0.785 D?

* Length of stroke, L, m

* Number of effective stroke per min (per ram), n
* Number of cylinders, |

+ Volumetric Efficiency (big pum 0.9-0.95, small pump0.85-0.9),
1 =actual volume of water discharged/volume swept

i - 0
Q=60ALnin,m/h D= 1457 T

Effective Pump Speed = L n, m/min

slip= difference betwee volume swept and volume discharged

Now, the another thing is there that we have said so, for centrifugal pump in case of your
reciprocating pump, their capacity how do you determine? The capacity of a your
reciprocating pump depends on the your that what is the cylinder cross sectional area, then
what is the length of the stroke, what is the number of that is your strokes per minute and
what is exactly you are having this your number of cylinder, how many number of cylinders

that is your this 1 and that your efficiency these gives the capacity.

And then, the diameter which is there that can be calculated from this formula. So, you can

get that the capacity and diameter of the reciprocating pump can be calculated out.
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Power Required to drive a pump

* Capacity, Q, m¥/h

* Total Head, H, m

* Mechanical Efficiency, n
* Power, P kW

10000 H
73600 x 1021

And then, you can find out that what will be the power required to drive a pump? It is just if
you know the capacity, if you know the that pressure head, then you can find out the power
required in this form and then, the motor; motor rating will be divided your this much

kilowatt motor can be available over here
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Calculate the Net Positive Suction Head for a pump handling 100,000 kg/hr flow of water coming from an
atmospheric storage tank. The water temperature can be taken as 25°C The line size of pump suction line is
6" and the suction line is 20m long. The pump suction nozzle is 0.4 m above ground level. The tank is elevated
ona 1.mhigh platform. The minimurm liquid level in the tank is 300 mm.

poiNTo AT

Pressure loss in the
line = h,

POINT 1 / PUMP v

o
Study solution at:

https://www.enggcyclopedia.com/2011/07/sample-problem-pump-npsh-calculation/

So, you can do this problem. Calculate the net positive suction head for a pump handling
100000 kg per hour flow of water coming from an atmospheric storage tank. The water
temperatures can be taken 25 degree centigrade. The line size of the pump suction line is 6

inches, and the suction is 20 meter long.

The pump suction nozzle is 0.04 meter above the ground level. The tank is elevated on a
I-meter height platform. The minimum liquid level of the tank is 300 millimeter. Such type
of situations can be created; you can study the solutions at this particular instant given, so that

similar type of problem in the minds you can easily find out.



(Refer Slide Time: 32:09)

Calculate the specific speed of the impeller of a pump rated for an hourly capacity 150m?/h of water and
capable of developing a head of 30m. It is to be directly connected to a motor operating at 1450rpm

Flow rate in m?/s= 150/3600= 0.04167 m’/s
Specific Speed= N \/6

Ns = (wps)o7s

__1450v0.04167
Ng = (30)075

=23.08=23

Similarly, we have said that your some calculations you can find out from the specific speed,
you use this formula from the specific speed at net positive suction head given, then you can
find out and once you find out this number, you can find out that means, what will be the

characteristics, it is a low specific speed. So, you refer to the diagrams and you can suggest

that how the pump will be behaving.
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Conclusion

+ Pumps in mines must be properly installed, commissioned and tested for trouble free
operation

+ Maintenance of pump needs to be carefully planned and managed, it is essential that you
study trouble shooting of pump and explain common problems and remedies.

So, in a nutshell, we have just discussed today that what are the basic principle or basic
calculations we made in a pump, but most important thing as a mining engineer, your in the
mines that dewatering activities require a different type of pump selections. Most important is
your how that pump will be maintained and how they will be managed for that we will have

to study a little bit more with the applications-oriented thing.

I hope with this, you will be able to take up a simple dewatering plan for the mine and then
you can select a pump for a given conditions. You will have to practice few numerical on this

then you will be able to resolve the issues that are faced in the mines.

Thank you very much.






